= o
N & 0 & 23 H A A
SN HAEHARA
B WY X
S HAgAMALS (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
HelE AR A 148,526 320,640 A172,114
ME K& 124,935 0 124,935
CHol & & XA 2 st 124,935 0 124,935
ST HAUESHZ 2= 20,000 0 20,000
203 R =&Yl 20,000 0 20,000
03 A FXH S =AY 20,000 0 20,000
OHAEHIR(MES , MSB) =& 20,000,000 20,000
det® HF ord 104,935 0 104,935
201 Let24d] 81,280 0 81,280
01 At 22l 75,880 0 75,880
ONMESARL EES 30,000,000& 30,000
oLtz (&A) 20,400
ONMSAMR2A 1,000,000& * 12&8 12,000
ONZE AR A 700,000& = 12& 8,400
ONZ & HMSAR4A 24l 15,480
OZeldl 265,000 * 2024 * 128 6,360
ONR(EA) =2
15,0008 * 28 * 2014 ~ 123 720
OAEE3HI 350,000& * 2JH 4 + 12& 8,400
OANE 2288 HMH 20,000& = 5004 10,000
02 =224l 5,400 0 5,400
OAO0ISTV A= 30,000& * 204 +12& 720
OME, MBM=RA JtAE
70,000& * 2JH 4 + 12& 1,680
O&F=J| KX 2cltl 50,000& = 104 = 12& 600
oolsdaea 100,000& = 204 = 12& 2,400
202 oddl 23,655 0 23,655
01 = LH 4 1l 23,655 0 23,655
O ZtLH of HI 5,880
OAMZ& 10,000& = 1€ * 78 * 123 840
OMZ 20,0003 = 3% = 7¢ ~ 123 5,040
O =22 ol 17,775
ONSE 30,0003 = 29 = 7¢ » 123 5,040
ONMEE 75,8003 * 29 x 7 « 12& 12,735
BH2HBU (HABSARL) 23,591 0 23,591
el 2 gl 13,895 0 13,895
ol 24| 13,895 0 13,895
101 @14 dl 13,895 0 13,895
01 2= 13,895 0 13,895
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